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Private International Law – Structure of Answer

1. “A court must have jurisdiction before it can adjudicate a dispute. There are several factors to consider in relation to the jurisdiction of the court. Generally, a court is only able to exercise jurisdiction over the land and those activities which occur within or touch upon that land, and the people that the sovereign governs. Flowing from this are the concepts of in personam jurisdiction and subject matter jurisdiction.”

a. “In personam jurisdiction is concerned primarily with the plaintiff being able to serve a writ on the defendant. The D must be amenable or answerable to the command of the writ which primarily depends on nothing but their presence within the jurisdiction (Laurie v Carrol).”

i. Ordinary residence nor domicile is not required, and the length of time the defendant remains within the jurisdiction is immaterial (Laurie v Carrol).

1. Exception to this is when the D has been induced to come into the jurisdiction by fraud (Laurie v Carrol).

ii. Can serve a D outside the jurisdiction at the time by acting in accordance with rule 124 of the Civil Procedure Rules.

1. Leave of court only required if High or Federal Court

iii. Some D’s may have immunity:

1. Friendly foreign armed forces (Chow Hung Ching v The King)

2. Foreign diplomats and consular officials (Diplomatic Privileges and Immunities Act 1967 (Cth))

iv. At CL, a court will also assume jurisdiction over a D who voluntarily submits to the court’s jurisdiction.

b. “However, the fact that the P is able to serve the D within these circumstances or rules does not mean that the jurisdiction selected by the P is appropriate (Voth v Manildra Flour).”

i. In QLD, the only basis for setting aside the service of the writ is that fact that it was not authorised under the Civil Procedure Rules (Civil Procedure Rules, rule 128).

ii. The D that believes another forum is more appropriate will need to make an application to the court to either stay or dismiss the action.

iii. An Australian court will stay an action where the applicant can prove that the domestic forum is a clearly inappropriate forum for the action such that the continuation of the action in the form will be vexatious or oppressive (Voth v Manildra Flour).

c. “Subject matter jurisdiction is concerned with whether the court can hear the particular type of claim.”

i. For example, Family Court can only hear familial matters.

ii. In Australia, there is now cross-vesting of jurisdiction wherein each superior court in Australia is cross-vested with subject matter jurisdiction of each other superior court. (Service and Execution of Process Act 1991 (Cth)).

2. “Once it has been determined that the court has and will exercise jurisdiction over the matter, if the matter has a foreign element, the court will then need to decide what law it will apply to dispose of the dispute between the parties.”

a. The reasons a court will do this include:

i. It is in the interests of justice

ii. Uniformity of result

iii. The policy considerations of the forum (Cavers, Currie)

iv. Respect for other nations laws (Story’s Comity Theory)

v. Predictability of results (Leflar)

vi. Meeting the parties’ expectations

vii. Cooperation between states.

b. “The court will only consider applying the law of a foreign jurisdiction when the application of the different laws will lead to a different result in substance.”

c. If Australian Court:

i. “According to Nygh and Davies, there is a four step process an Australian court will undertake in approaching a conflict of laws problem. Australian courts use the jurisdiction-selecting approach.”

ii. “Firstly, the court will characterise the matter, including its facts and issues.”

1. State the area of law. (marriage, tort, contract etc)

2. State the cause of action. (validity of marriage etc)

iii. “Next, the court will ascertain the choice of law rule. These are indicative rules because they indicate which dispositive rule has to be applied to resolve the matter; they do not resolve the dispute themselves.”

1. Formal validity of a foreign marriage is determined by the law of the palce of the celebration of the marriage – lex loci celebrationis (Apt v Apt)

2. Capacity to marry is determined by the law of the domicile of the parties (CL rule) – lex domicilii

3. Succession to movable property (eg chattels) is determined by the testators domicile at date of death (CL rule)

4. Succession to immovable property (eg land) is determined by the law of the situs of the property

5. Liability for a tort is determined by applying the law of the place of the tort (John Pfeiffer v Rogerson)

6. A contract is governed by the system of law chosen by the parties. If they don’t choose one, the contract is governed by the system of law with which the transaction has the closest and most real connection (includes where parties live, where contract formed, where performed, where breach occurred).

iv. “Next, it will locate the connecting factor. The connecting factor is the key that connects or points to the system of law that should be applied to solve the legal problem.”

1. For example, a marriage celebrated in Egypt: the connecting factor is that a valid marriage ceremony was held in Egypt. 

v. “Lastly, the court will then apply the relevant law.”

1. State the law of the relevant jurisdiction and the result from applying that law.

d. If American court or law-selecting approach:

i. “Instead of choosing between jurisdictions, the court will look at the content of the competing laws to choose the most appropriate to apply. This will involve an analysis of the characteristics of the underlying laws.”

ii. “According to Cavers, the ultimate duty of the court is to reach a just result, so they would need to look at the result of the application of each law, and examine the policy of the local forum.”

1. Apply to facts and state what would happen.

iii. “Cheatham and Reese's approach involved applying the law of the forum with the dominant interest in the matter. For example, Babcock v Jackson (Week 7, pg 4).”

1. Eg – if the P is going to be unfairly disadvantaged under the foreign law because of the policy considerations of that forum, then it does not have a dominant interest in the matter.

2. Apply to facts and state what would happen.

iv. “Currie states that the court should identify the governmental interest of the local forum. Then do the same for the foreign forum. If both states have an interest, apply the local law.”

1. Which state has the dominant interest in having the dispute resolved?

2. Apply to facts and state what would happen.

v. “Lastly, there is a teleological approach suggested by Leflar and Juenger. This is a qualitative analysis which includes the following considerations:

1. predictability of results

2. maintenance of interstate and international order

3. simplification of judicial task

4. advancement of the forum's govtal interests

5. application of the better rule of law.”

6. Apply to facts and state what would happen.

3. Come to overall result and sum up.

4. Advantages of jurisdiction-selecting approach

a. predictability

b. certainty

5. Disadvantages of jurisdiction-selecting approach

a. Very mechanical

b. Can lead to bizarre results

6. Advantages of law-selecting approach

a. focus on the merits of the case

b. seeks a just outcome

c. flexible – not a mechanical process

d. deeper analysis

7. Disadvantages of law-selecting approach

a. too much emphasis on the law of the forum

b. difficult to evaluate the interest of a foreign state

c. expensive and time-consuming

d. too academic

e. lacks certainty

f. less simplistic than jurisdiction-selecting
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